LIAFEIO| 10 ERHX|IL gl= &

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

ks

oy ot [> 3
H1 U pm A

ro

o
>

435t M2l
= 1.4305.
4034,

o >0y @
> rE
-

r

bl
1l

|, Ast|X| 2
2|E 1.4305.

1.4305.

it
o >
ey 8

=40
L]

ox !
o

o[> H
ol umr2
HES

¥

il b
oy oy o
rHrE 0
o\l O\I g
o o 1>
el

Ho

m
Rl

hl

ol
==

M2 rErood
0

-
Rl

o oy 10 [

ok
>

[m o MK
ol X
mo [

>
=

= o|
=
EEQ| XS EHS(ZZ X|04)0]
7ts8t7LE Aol20 2fsl &S 7HsELICH

H=2 EEE Z0|7] Rl 237 QI &AME

||

S5 = US. LIAL £2[E20 0|E =10
75 Ho| 4202 NS 8.
AL

E4 MA A,

=0 M.

EbQL J: LIAF El U S, &2 HE I8
EFQl K: LIAF El I8, 2 HE QI8

www.kipp.com - info@kipp.com 1/3



°
= == e — ==
LIALEIO| 111 E2HX|7} gl= 2B =2 AH|2I|A oIHA SRX]
=N
©) ®
Y |
ElN
] /ﬂ/
o= .1
| NERRERNREN) ll IENNRNRNNNN |
Y
| [95]
[} |
|| | Dag
D1
E= 29
oleiA ZEix| ZEX| 2
== Ws By ERBNES EH D DI D2 L L1L2 2AEE3 SW Fx30° AlF EbA FEHS
712 = S 2 EE2  A3= QM
F1 2 N F2 2. N
K0345.1903 J AE 23 3 M6x0,75 M2 241735 35 - 0,8 45 10 K0344.99
K0345.1004 J AE] Zs 4 M8x1 M3 3221 7 4 - 1 6 12 K0344.90
K0345.1105 J AE Z8 5 M10x1 M4 3724 8 5 - 1,3 5 12 K0344.91
K0345.1206 J AE Z3 6 M12x1,5 M6 4228 8 6 - 1,8 6 14 K0344.92
K0345.1308 J AE Zs 8 M16x1,5 M8 5636 12 8 - 2,3 15 35 K0344.93
K0345.1410 J AE Zs 10 M20x1,5 M8 6240 12 10 - 2,8 15 34 K0344.94
K0345.1412 J AE 23 12 M20x1,5 M8 6642 12 12 - 2,8 15 39 K0344.94
K0345.1516 J AE Zs 16 M24x2 M10 8050 14 16 - 3,2 20 46 K0344.95
K0345.01903 J AHQIEA AL A3t 3 M6x0,75 M2 241735 3,5 - 0,8 4,5 10 K0344.99
K0345.01004 J AHQIFA AE Zs 4 M8x1 M3 3221 7 4 - 1 6 12 K0344.90
K0345.01105 J 2AEQIE A AEl Zs 5 M10x1 M4 3724 8 5 - 1,3 5 12 K0344.91
K0345.01206 J AHQlE|A AE Z3 6 M12x1,5 M6 4228 8 6 - 1,8 6 14 K0344.92
K0345.01308 J AEQIEA AEl Zs 8 M16x1,5 M8 5636 12 8 - 2,3 15 35 K0344.93
K0345.01410 J  AEQIEA A& Z3 10 M20x1,5 M8 6240 12 10 - 2,8 15 34 K0344.94
K0345.01412 J 2AEQIEA A&l 23 12 M20x1,5 M8 6642 12 12 - 2,8 15 39 K0344.94
K0345.01516 J AEQIEA AEl 23 16 M24x2 M10 8050 14 16 - 3,2 20 46 K0344.95
K0345.11903 J AEQIEA AEl  H[ZFE 3 M6x0,75 M2 241735 3,5 - 0,8 45 10 K0344.99
K0345.11004 J AHQIEA A& HIZ3 4 M8x1 M3 3221 7 4 - 1 6 12 K0344.90
K0345.11105 J AH[QlEA AR H[ZS 5 M10x1 M4 3724 8 5 - 1,3 5 12 K0344.91
K0345.11206 J AH[QlEA AE  H[HZS 6 M12x1,5 M6 4228 8 6 - 1,8 6 14 K0344.92
K0345.11308 J AHQlE|A AR HZE 8 M16x1,5 M8 5636 12 8 - 2,3 15 35 K0344.93
K0345.11410 J AH[QIEA A8 H|ZE 10 M20x1,5 M8 6240 12 10 - 2,8 15 34 K0344.94
K0345.11412 J AH[QIEA AR H|ZEE 12 M20x1,5 M8 6642 12 12 - 2,8 15 39 K0344.94
K0345.11516 J AHQlE|A AR H[FE 16 M24x2 M10 8050 14 16 - 3,2 20 46 K0344.95
K0345.2903 K AE] PEE 3 M6x0,75 M2 241735 3,5 10 08 45 10 K0344.99
K0345.2004 K AEl 43 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.2105 K AE] PEE 5 M10x1 M4 3724 8 5 17 13 5 12 K0344.91
K0345.2206 K AEl PEE 6 M12x1,5 M6 4228 8 6 19 18 6 14 K0344.92
K0345.2308 K AE Zs 8 M16x1,5 M8 5636 12 8 24 23 15 35 K0344.93
K0345.2410 K AE] Z3 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94
K0345.2412 K AEl Zs 12 M20x1,5 M8 6642 12 12 30 28 15 39 K0344.94
K0345.2516 K AE Zs 16 M24x2 M10 8050 14 16 36 3,2 20 46 K0344.95
K0345.02903 K AHQIFA AE Zds 3 M6x0,75 M2 241735 35 10 0,8 45 10 K0344.99
K0345.02004 K AHQIFA AE Zs 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.02105 K AHQIFA AE A3t 5 M10x1 M4 3724 8 5 17 13 5 12 K0344.91
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



= o = ==
LIAEIO] Q111 SelX|7} gl= 28 =2 AH|QI|A QIHA SR
Zs g9
F=wa By  EA MY EH D D1 D2 LL1L2 AEE3 SW Fx30° AE &4 FEHE
712 = S Bty EE2 A3F QSN
F12F N F22 N

K0345.02206 K AE|QIBA AE 4st 6 M12x1,5 M6 4228 8 6 19 1,8 6 14 K0344.92
K0345.02308 K AE|QIEA AE Z#s 8 M16x1,5 M8 5636 12 8 24 23 15 35 K0344.93
K0345.02410 K AE|QIBA AE 78 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94
K0345.02412 K AHQIYA AR 4st 12 M20x1,5 M8 6642 12 12 30 2,8 15 39 K0344.94
K0345.02516 K AEIQIEA AE a8 16 M24x2 M10 8050 14 16 36 32 20 46 K0344.95
K0345.12903 K AHQIHA AR H|Zst 3 M6x0,75 M2 2417 3,5 3,5 10 0,8 4,5 10 K0344.99
K0345.12004 K AHQIEIA AR HIZst 4 M8x1 M3 3221 7 4 13 1 6 12 K0344.90
K0345.12105 K AE|QIYA AE HZst 5 M10x1 M4 3724 8 5 17 1,3 5 12 K0344.91
K0345.12206 K AHQIHA AR HIZst 6 M12x1,5 M6 4228 8 6 19 1,8 6 14 K0344.92
K0345.12308 K AHQIBIA AE HlZst 8 M16x1,5 M8 56 36 12 8 24 2,3 15 35 K0344.93
K0345.12410 K AHQIBA AE H|Z3 10 M20x1,5 M8 6240 12 10 30 28 15 34 K0344.94
K0345.12412 K AHQIHA AR H|Zst 12 M20x1,5 M8 6642 12 12 30 2,8 15 39 K0344.94
K0345.12516 K  AHQIE|A AE H|Zs 16 M24x2 M10 8050 14 16 36 3,2 20 46 K0344.95
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



